Pump Information:

Engine Information:

Frame Information:

Hardware Information:
Foot:

Engine to Frame:

Pump to Engine

Accessory Information:

Manual Information:

*

2225CWH-3

Part Number Description
PK18219 ...t Devilbiss Pump Kit
HOBB....eeeeeeeeeeee e Swivel Assy
[ (01 3 S Swivel Nut
FAB7 e Inline Filter
17658 ..o Thermal Relief Valve
17249, Chemical Injector
GC160QHA ................ Engine, Honda, 5 Hp
PA4AB ..o Key
16255 i Engine Oil, 20 oz.
18096 oo Frame
17926 e Foot
17367 oo Hand Grip
18076, Handle, Bagged
G042, Knob (2)
AT7624 e Tire, Pneu
FABA ..o Pal Nut (2)

@ CO4T e Insert, Nut 5/16”
FOB4 (qty 1) ceveeeeeerneen. Screw, 5/16-18 x 1”
F112 (gty 1) ceeeeeeeeeeeeen Flat Washer, 3/8”
16087 (Qty 1) weeveeeieeeenne Nut, Hex 5/16-18
FOB6 (Qty 4).ceeeveerieeeeiieeens Screw, 5/16-18
16087 (ty 4) weeveeeieeeannne. Nut, Hex 5/16-18
FO74 (Qty 4) «coveeeeeeeenne Flat Washer, 5/16
17204 (Qty 4) .oceeeeeeeeeeeeeeee Screw, 5/16
16276 oo Hose Assy

AFO39....eee e QC Plug

A16254 ... Hi Pressure Hose, 3/8” x 25ft
H133 e Wand/Multi-reg
16496 ......cooceeeee. Trigger Gun, 3/8” Female
H140 oo, Chemical Hose
D20314 ... Parts Bag
NCTOOT oo Cleaning Tool
16797 e Allen Wrench
17827 e Video
MGP-2225CWH................ Manual, Generic-

English/Spanish
16798 .., Manual, Insert
V16411 Manual, Engine

Included in Pump Kit

A Included in Hose Assembly
# Included in Bagged Parts
¢/ Included in Bagged Handle

€ Will require special tool for assembly-see Service Flash section of this manual.

PW-MANUAL

August, 2001
Tab: 2200



